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PROBLEM 11.9

The brakes va::f' a car are applied. causing it to glow down a
rate of 3 m/s" Enowing that the car stops in 100 m dﬁt&me 4= -3

(o) how fast the car was traveling mmediately before the
brakes were apphed, () the ttme }:&qmr@é for the car to stop.
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*12-12. When a train is traveling along a straight track

at 2 m/s, it begins to accelerate at a = (60v*) m/s?, where
. . . . e shle

v is in m/s. Determine its velocity v and the position 3 s,

after the acceleration. i
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*12-44. A motorcycle starts from rest at s = O and
travels along a straight road with the speed shown by the
v-t graph. Determine the motorcycle’s acceleration and

position when =8 s and t = 12 s.
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